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1.  Which of the following may not be expected from a teacher to keep in mind while
respecting individual difference ?
(A) Ability grouping (B) Adjusting the curriculum
(C) Leaving Children for self study (D) Adjusting the methods of teaching
s FAf=a1 &1 W9 Sd 9th, us fiere @ 41 A1 781 Sl 91 Hehdl & 7

(A) daEEnEEd fmwen | (B) / wgeat @ gARE w5 |
C) wEimEEESusgdm| (D) few ff# awEfia e |

When both chronological and mental age of Poonam is 9 years, her intelligence category

2.
may be considered as
(A) Superior (B) Sub-average
(C) Average (D) Genius
ﬁwﬁmwwmﬁgmt,ﬁMﬁ-ﬁmﬁﬁm%
(A) I8! (B) tEad®m
(C) 3ftad (D) wfeamEA

' ing i istics of Autism ?
3. Which of the following is the characteristics 0 4 .
(A) Poor Socialization (B) Stereotypic behaviour

(C) Poor Com munication (D) All of the above
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ol OWIng : (which one D '@ child at adolescent Stage, parents and teachers can do th
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A
:B; I[}::'Iﬂﬁl:'lllg Proper gender education
© A v ldlll‘lg Suitable environmeng
) A;Tangmg guidance and counselling services (if requj
| of the above e
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6.  Which nf'rthe following is not related to Action Research ?

(A) Action research helps in theory building. |
| (B) It enables us to solve practical problem.
(C) Focus on problem that are of immediate concern,
(D) Ofifers formation feedback such that aims and methodolo 1ati
ch gy are open to variation.
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7. A teacher is going to apply the principles of Thomdike’s theory in the classroom. What
he/she should not apply from the following ?
(A) Children should be made ready or motivated properly for learning a task.
(B) Children should be oriented to a discovery approach towards learning new things.
(C) Sufficient practice or drill work should be carried out. )
‘ (D) Teacher should try to make use of rewards as properly as possible.
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is the inability to distinguish between one’s own perspective and other’s

* ive in early childhood
Fﬂﬁpﬂéﬂnﬂrigsﬁf}’ | (B) Ego centricism
(C) Animism (D) None of the above
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“When someone fails repeatedly to overcome weaknesses and achieve 50
llustrated the

simply places excessive emphasis on some particular inferiority.” Who |
above statement as ‘inferiority complex’ ?

(A) Carl Gustav Jung (B) Sigmund Freud
(C) Karen Homey (D) Alfred Adler —-—
o Y AR 3 e @ Frer 3 e g & i g e g .
TTUTUTE: STefiET A1 U Y SUIE W 23 el 1 gt feran e i faa B
w81 ?
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: _ focused is
The highly efficient form of learning approach, on which Bandura and WE::;‘;:;:
(A) Reward and Punishment (B) Observational Learning N
(C) Self-actualization (D) None of fhe abﬂwa 2
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(B) T i v in attending school.
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13. In which of the following technique, the child eamy objects, which they can exchange g,
’ r

desirable items, services or privileges ?
(A) Token economy (B) Shaping |
o S : (D) Covert Sensitization

fr & @ fopw TS % il T T R N 9 e e 2, P w3y
T I, S 91 3 ew Fhard ?

(A) A g (Token economy) (B') T34 &ty (Shaping)
Extinct; :
(C) fae (Extinction) (D) 9%z w3diam (Covert Sensitization)

14, Students encountered many conflicting situationg
example a student wants to admit his mistake in fr
he is afraid of being punished by the teacher. |t is
(A) Approach-Approach Conflicting Situation.
(B) Avoidance-Avoidance Conflicting Situatiop,
(C) Approach-Avoidance Conflicting Sityation.
(D) None of the above.

during their adjustment process. For

ont of the teacher but at the same time
best explained by

LSRR ﬁmmilﬁqﬁﬁmwﬂﬁﬁaﬁm%ﬁﬁﬂ;%mm
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15. A5 year ﬂlc_l child has a general lack of responsiveness to others, serious deficiency i
mmmumcz.llmr.} and unusual repetitive behaviour. Such characteristics are the sign nfr‘] e
(A) Heant}g Impairment (B) Scholastic backwardness
(C) *Infannle Autism (D) Learning disability
AR R GE R b L B RS W E LT R - —
TR | 76 E % v v Fit 57 el & 7

(A) 9w Fifyay (B) iy frwgm
(C) 3w weftaan (D), siftr S
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16. A be_havmur pattern involving self-starvation that often arises in adolescence and
especially prevalent among girls is known as

(A) Anorexia nervosa (B) Delirium tremens

(C} ‘Aulﬁﬁm (D] Down S}"I'ldmme -
feramoraen i ¥ mﬁnﬁ@ﬁuﬂamﬁﬁﬁhﬂﬁ%ﬂm%mmﬁﬁw
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Which of the followin
© 16 refers to farsi - JINDIR
; S to farsightedness 7
(B) Astigmatism
(C) Hyperopia
i (D) Refraction
ﬁwﬁﬁaﬁwmmm%mhw% ;
(A) iR Tgrst X
(©) 31'£wfrﬁ'ﬂ1 s
Inéightﬁjl theory of leamning ig given by

(A) Thordike (B) Gardener

(C) Kohler (D) Hull and Tollman
a1 eI g gr fay w2

(A) ~oTeRs (B) &N

(C) whigert (D) & aur A

F
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Which of the following body regulate the training policies and programmes F the field of

rehabilitation of persons with disabilities in India ?

(A) National Council of Teacher Education

(B) National University of Educational Planning and Administration

(C) National Council of Education Research and Training

(D) Rehabilitation Council of India

B 3 3w a e v B qu S w1 R gt s
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“s;t a particular stage children begin to use Primitiye ST
arwer of all sorts of questions.” Piaget called this iy - )
folowing stage. he means ? tive™, As per Piaget, which of the
(A Concrete operation (B) :

(C Formal operation (D)

s fordy TR o = it o :@maqug:;:he v

mamﬂ‘él“ﬁﬂﬁﬁsé'aiaa‘h*wg R 3 ?ﬁiﬁmwm%mmm
(A) HTHR ESTE ,lga} ﬁ?ﬂﬁﬂm,ﬁnﬁﬂﬁqﬂmm“mg?

reasoning and want to know the

Prﬁ'ﬁpemtiun

20
21. Mot of the children speak first meaningful word at the age of
2E 0
(C) 35-40 months Dy 10-13
R AR v TR A e § oS
2.

’ (A) 3 months (B) 6 month
. 3
(A) 3w AB) 673
(€) 35-40 wdmd (D) 10-13 w3
22.  Who s the father of “Theory of Multi le Intelligence®
(A) Vygotsky Sy

; '[B]' Brunner
(C) Alfred _BIT!E[ (D) Gard
wR-4% g S mam d 2 ), Claderir
(A) TETeEH (B) X
(€) s e (D) e
23.  Who his given tr : :
{g} \'ygntskymﬂre stress on the Ph:]nm{[])ah}}f ﬂ[t; iS-e;f;v:;a] Constructivism ?
fgpi[ ﬁr';\‘ﬂfﬁ;g (D) Kohlberg
1 o T 2e R st e foay 2
A) Yeneeh ® R
© (D) e
2, i e
. L‘T]]mt}_:f t:'e ;?f:%\:mg 1S not an example of assistive technology for visual impairment ?
©) S i chp S:hthe:ikz i (B) Magnifying computer book
(D) Supplement to text book
ﬁqﬁ#ﬂ_qﬁg&qﬁaﬁmﬁiﬁ%mmaﬁaﬁmmmqﬂ% ?
(A) 8 fie i o (B~ foramers Frgelispa vl
(C) =t Hveivs (D) TR AT
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(A) Climbing ‘gﬁ Writing

{C) Running ( 27
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27. Meaning of Schema is

29,

30.

AT =51 Haed 8
" o
(B) At l
{C}fﬁﬁm%wﬂﬁ@ﬂ%wﬁﬁﬁiﬂﬁﬁﬁ“m
T - i . once down into variois basic
8. Information processing theories are known f0 break ’“tﬂu_‘tg‘;:’m then use it to reaion and
" skills that people employ to take in information, proceshs :hﬂ)l'}’ 9
solve problems. Who is best known for propounding E'u':ct
i e
W(C) ;;ﬁglggir:ﬁﬁﬁﬁ: mmﬁﬁﬁmmﬁ%ﬁmﬂﬁ:ﬂﬁi, {jﬁs?m
1 ST HE Wﬂﬁ#iﬂmm%ﬁ(wm‘g | 36 = fargr
=7 yRaTe 0 3 8 Rl AT TR ?
(A) SO R (B) o R
©) A feeE (D) Qe T
Select the “educable’ group based on different level of 1Q.
(A) 701090 (B) 30to50
(C) 50to 70 (D) Below 50
fre few e 1Q w # Rierofia 1 S |
(A) 70890 (B) 30¥50
(C) 50870 (P) s0d=
The unit of heredity is 4
(A) Chromosome (B) Fertilized egg
- (C) Gene (D) Zygote
SRR i b ] indiresult.in whatsapp - 9352018749
(A) shEEm (B) frfm ater
« (C) M (D) W e,

(A) Chunking Mel::;l'anism r
ing Techmgques . e

fg; {Lii;:]mzid packets of information stored 11 long term m

(D) Defence Mechanism of body
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SECTION - 11

LANGUAGE -1 F%'
ENGLISH {‘ J !prlﬁtgf$ FARMTHREN
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There are 30 questions in all in this S;ﬁliﬂlh
. All questions are compulsory.

Which of the following sentences has the correct structure of questll;:-n ?
(A) Do you have got a car ? (B) Have you got a car *
(C) Did you have got a car ? (D) Did you got a car 7
The passive voice form of th.': sentence — ‘Thieves broke into my house will be
(A) My house was broken into by thieves.

(B) Thieves were broken into my house.

(C) My house had been broken into by thieves.

(D) My house was broken by thieves.

Which is the correct option ? .
(A) Raghu is the tallest of any other boys in my class.
(B) Raghu is tallest boy out of any boy in my class.
(C) Raghu is the tallest boy in my class.

(D) Raghu is the more tall boy in my class.

The passive voice form of the sentence * “Who wrote this poem 7" will be
(A) By whom had this poem been written ?

(B) By whom has this poem been written ?

(C) By whom was this poem written 7

(D) By whom was this poem being written ?

Which of the following sentences has the correct structure of question ?
(A) Why hadn’t she attend the meeting ?

(B) Why didn’t she attend the meeting ?

(C) Why didn’t she attended the meeting ?

(D) Why haven't she attended the meeting ?

‘The material should be according to the child's mental age, mental ability, grade and level’.
Which principle of teaching is involved in this statement ?

(A) Concreteness (B) Accuracy and correctness

(C) Selection and Gradation (D) Proportion

_____means equal treatment to various components of linguistic learni
(A) Habit formation ®) ponents bElinguistic learning.

(C) Multiple line (D) Proportion

indiresult.in whatsapp - 9352018749

ish creates a zeal to learn something new in language ?
er (B) The principle of habit formation

Which principle of teachip Engl
(A) The principle of pmpgér mg:l
(C) The principle of Mmotivatio

n (D) The principle of selection
39. The method emergeq :
method is , B84 as a reaction of the various demerits of The Grammar-translation
(A) Bilingual Methog ;
® (C) Direct Method (B) Play and Learn Method

@ NDIRESULTE (D) The Sentence Method
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Which method is also known hod of teaching Engli
(A) Substitution Method o Numsal Tg; Gramrnar-translatmn Method
(C) Bilingual Method (D) Direct Method
Choose the productive skill from the following

(A) Llsten.ing () Réading

(C) Speaking (D) Reading al oud

What d{} people read for pleasure ?

(C) Report (D) Dictionaries

Which tEChl'quUE cnfrc'ading is u-,sa-d to gﬂ'i at the gist of the text T
(A) Skimming (B) Library

(C) Scanning (D) Aloud -

Which teaching aid can be used to teach listening comprehension ?
(A) Textbook (B) Word cards

(C) Tape recorder (D) Picture cards

. = I-)
What can be used as props for dialogues in order to teach new lexical or structural items
(A) Text book (B) Reference book
(C) Realia (D) Dictionary

“The testee has to replace the underlined word with correct option.” Which skill is tested in

this statement ?
(A) Reading
(C) Writing

(B) Listening
(D) Hearing

measures a student’s achievement in relation to a specific task which he will later

be required to perform.
(A) Productive test
(C) Integrative test

(B) Proficiency test
(D) Objective test

test measures the language skill naturally.
A) MC € (B) Sub_}gctwe
2 e | (D) Reading

(C) Objective

What is the cause of failure in learning a second language ?
(B) Over simplification of target language

(A) Home assignment . e
(C) . Diagnostic test | (D) Reading strategy
indiresult.in whatsapp - 9352018749
Grammatical Errors refer to

(A) Inappropriate words

(B) Spelling errors
(D) Errors in syntax

(C) Lexical errors
P.T.O.
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g:;:. I(]Q. 1\?;1;? ;flfﬂﬂ;;;ver the questions that fo)]gy, -
Oof waste n Ute our environment by throwing different 1
This Pmbm?m"’ Waste reuse and recycling are the pmi;':zr;f;dﬂggiiﬁ:: Fj:erl::l“l}’j 1'*~“lr:thu.:5E
to dump the ws MOre serious in cities because sometimes it is difficult to find :HEIHE Wast,

ours and stinkame' Garbage bins overflow in big cities. The waste begins to ro LoDt
health ang & S. It becomes a breeding place for harmfyj Ictecia which wonlg after fy,, b

Iseases like malaria, typhoid, cholera and dengue, etc. Spread i,

F indiresult.in whatsapp

R-'Ead the pas

Pr‘ﬂﬂﬂ PHSSI F'T‘l

SI. Wk
| ich of the following words is a synonym for ‘dump’ 7

(A) dispuse
ph se of (B) cater
.5, “[[*h} flourish (D) deck
Aﬂ antonym of ‘reduction’ is -
© Promotion (B). diminution
) induction (D) decomposition
33. Whi h of i i
1¢h ot the following words is correctly spelt ?
a Fart!le (B) Furtile
(C) Fertile (D) Fortile
54.  The verb ‘pollute’ can give us the noun
(A) pollutation (B) pollution
(C) pollutable (D)  polluted

S5. Find the correct one word for the phrase given below :
Converting waste into reusable material’
(A) garbage (B) recycling
{C) managing waste (D) breeding
Read the passage and answer the questions that follow :

Prose Passage — 11. (Q. Nos. 56 to 60).
I have access to safe water and to avoid water crisis in the near future it is necessary

that correct policies and schemes are made. Water conservation and its proper management

can also be considered as one of the effective steps to avoid water crisis. India has a long
tradition of water harvesting. Harvesting rain water is one of the most effective ways to
tackle the water crisis. The basic principle is, to collect the rain water where it falls, use it
and let it seep into the ground. In this Rashtrapati Bhawan is leading the way. It is one of
the few buildings in Delhi that conserves rain water. Aizawl in Mizoram meets most of its

water needs through roof top harvesting,
Which of the following options is an example of ‘demonstrative pronoun’ ?

(A) This (B) 1
(C) Its (D) Then

57. ‘I have access to safe water.’
The underlined verb - *have’ is an example of ;
(A) An auxiliary verb (B) Verb in simple present

56.

(C) modal auxiliary verb (D) verb in present perfect
| 58. Which of the following has the three degrees of the adjective in their correct form ?
| (A) Near, more near, nearest (B) correct, more correct, correctest
(C) few, fewer, the most few (D) effective, more effective, most effective
59. In the phrase “water crisis in the near future’, the determiner used is
(A) -.;ater (B) crisis
the
© . . ; indires&R}m \I/lvehagtsapp - 9352018749
60. Conjunctions in the passage are
{ , (A) and, that (B) as,of
" . (C) where let (D) most, through
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SECTION _ g ¥
N . NG UAGE _ 11 =
indiresult.in whatsapp - 9352018749 ENGLISH @| DIRE
Thﬂn:an:auq - - FEUN FEWCEIEE PARTHES
stons in gl iy this Sectiop

B gi?mg{}:l:e;ﬂrd in Which the gnli?igﬂns are compulsery
(C)  Sect % from the other waords
ept -

62. Pick out the correcy ;
(A) - /znrik ° ranseriptiop of the

. Tokinginga &)
3. INg Into account the ring za'nerik

{3) Eea?“mg can be dﬂvﬁi‘ﬁi‘f'“ Of language teaching
(8) Desired g0l ofteachig gy
(C)  Only linguistic habits cap }, gdm inguage can be achieved
(D) Only learning of English a:a SWE]G = .

§i Communinagivs P econd language will be enhanced
(A) Exploit Sound psychulingnlﬁ ;gl; Language enables the teacher to;
(B)  Exploit sound educational princi];JT:sg s

(C) Exploit sound : : ; gL
(D) anx::e of the abgi}:hnlmgmsm and educational principles

65. In Communicative Approach to teaching the teacher must know why it is
(A) Better to tolerate errors in students’ attempt to express their selves
(B) Not to allow students’ to express their selves
(C) Not to tolerate errors in students’ attempt to express their selves
(D) Better to note down the errors

66. One of the language disorders is found when:

(A) learner is missing the class

(B) learner is speaking in class
(C) learner speaks in short and fragmented phrases
(D) learner speaks the full sentences

Language disorder means when a child has

(A) guD%fﬁcu!ty in understanding the meaning
(B) Difficulty in expressing his/her thought i
(C) Trouble producing some sounds accurately

(D) Either or both (A) & (B)

67.

68. Articulation error o?}ctt:;% ﬂue to
ed speec E o
EQ}} g?ur:lring over and clipping sounds
's i ' € : :
(C) Learner Si:fv.:?ll'll':rg’gﬂgme to stress & intonation
(D) Leamer g = indiresult.in whatsapp - 935-2011874% "
69. Remedial teaching inVOIVeS. oo\ ) Rectifying a particular problem
(A) ]mpm"{i“;;ﬁtd?g earning 2 (D) Neither (A) nor (B)
(C) Either Pt
70. Communicative approach t%i:éﬁ?:r{;rn S[B)S Fluency & Flexibility
. (A) Content rele('-’Bal}'IGY & (D) Neither (A) nor (B) —
&
(C) Both (A)
L]
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Recent scheme of evaluation outlined by CBSC is

W) Comprehensive & Continuous Evaluation

(B) Continuous & E_ﬂmpreh;ngive Evaluation .

Continuous & Lommunicative Evaluation @: !
E[C)T‘!I C{)mmuniﬁative & Cﬂnti]’]l_'[gus E\’ﬂlu&tiﬂn !prl.ﬁzgsgi”n I:E;
Remedial teaching should be carried oy
(A) Textand test
(B) Textand learning

(C) Malady on language test and it causes
(D) Merits of teacher

Remedial program is designed keeping in mind
(A) Each student’s strength

(B) Each student’s weakness

(C) Each student’s strength and weakness
(D) None of the above

Remedial teachingisa

(A) Preparation of teaching (B)  Pre-teaching program
(C) Systematic process (D) Random process

The basic requirement of a language proficiencies test is that it must be
(A) Reha_ble (B)-. Complex
(C) Ambiguous (D)  Simple
Passage :f _ X

In spite of rigorous precautions against accidents, many le are injured e 1
factories and elsewhere. In addition, some people are born wpﬁt?ghysical dlisahilit?:sr.}rﬂfgra:-z
either blind or deaf or in some way deformed from birth. Upto quite recent times, little
planned action was taken to fit handicapped people for employment. A number of charitable
organizations tried to help them in cases of hardship; but few seriously held the idea that these
people might still have abilities in other directions.

Which one of the following is the most a ropriate title for the passage ?
(A) Rehabilitation of the physically chzﬁll}enged e
(B) Physical disabilities..

(C) Accidents

(D) Planned action

In the above paragraph, ‘In addition’ ; di
(A) Emphasis B

t after identification of

(B) Addition
1;3(3;,!h Sequenct:l (D) Alternative
; ﬁ:. ; crhthase children or my own son picked all the flowers.
© i:"-'e (B) has
(D) are
In the above passag

(B in the world suffer frocn{"}f;;‘ue},::rsical disabilities
(Cg Em?‘lﬁg :e hot taken against accidents, |
(D) physically cha?lPhYS:ically challenged are fit for employment.

€n
Noisy children are 5 rea]gﬂ s

two aspirins will make ,,Eii;dgﬁiiﬁ Two aspirins will make a headache go away. Therefore,
ve lines contain ren go away.

(A)  The fallacy chquivucatiﬁn indiresult.in whatsapp - 9352018749
(B) The fallacy of false analog
(C) The fallacy of hast Y generalizag

(D) e fallacy of composition 7
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ct:
Your l(}ve :
impression fil] ahknd PILY doth F
Which vy .
my ;T:; _“h BAr scanqy) Stampq upon - @l INDIRESULTE
. w at':arelwhu FEUB EMCEOSE PARTMEN
or 1ll, Calls me well »
S0 you o’ey-
The thyme scheme of o™ MY bad
(A) abab of the CXtract ig my good allow ’F'
: (D) abca
§2. ‘One proven way t
heel mean? ,D beat an “Nemy is find his Achilles h !’
(A) Amulet cel’. What does finding Achilles
(C) Strong point (B) Weak spot :

(D] Secret strategy

Il of big pebbles:
k pine forest

83. The Wolf with its belly gty
Nibf.-_,lung wolves barhgd 11“::::1 al;(liaf:u
Against a red sky, over blye s

A) M etaphor P 1S used in the abng}exus-;?cg 2
(C) Alliteration imile

(D) Assonance
84. Which one of the followin

is someti oot ‘
(A) Assonance - imes called ‘vocalic rhyme’ ?

8

A . B i .
(C) Alliteration {D:‘; m‘:ﬁwm“
85. Which figure of speech is common in tongue-twisters, jingles and non-sense verse ?
(A) Alliteration (B) Simile
(C) Rh}me (D) Metaphor
86. 1It's a beautiful day. | have brought this umbrella.
(A) mustn’t (B) needn’t
(C) shouldn’t (D) couldn't
87, You should your phone call with a[r; f:m?i{lnr a letter.
(A) follow on ﬁni g
(C) takeon
88. “What time shall we go shopping 7 “Let’s see how the weather looksand " Insert
the correct idiom. (B) play it by ear
(A) raining cats and dogs (D) callitaday
(C) turn ablind eye
+ Sonnets usually are in (B) iambic pentameters
(A) free verse (D) verso tronco
(C)  iambic trimetel indiresult.in whatsapp - 9352018749
N o person who writes a P12y s (B) playright
(A) playwright (D) playwrite
» (C) playwriter P.T.O.
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61, HEPATATHN WUSTEHHATER H1 TEd: ITHTHIsH 7
(A) Tfemagfa: (B) WERmaYZf:
(C) SHCTHARIZR: (D) TG
62. el vga e we witfgepmmeliq ¢
(A) TG (B) WvSTEHgZat
(C) TEgEHTEA! (D) Frafumg
63. TR SAfmyEe ety
(A) TR (B) waTq
(C) =m=q (D) %=
64. wepaq Ay
(A) o (B) ETEATEHSHINT
(€) TS (D) HYSTUTEHHYTET
65. FHGTHEIHtHIATRT e e figr s ?
(A) I fag= (B) wf¥gamn: g
(€) +: g (D) wifgwre R
66. TN-FH WIANHA 5eqh R 7
1A) TR (B) &
8 HoR (D) F
67. mﬂwm'mmiﬁ 1{@3’1?
(A) ST (B) JerumEIRarg
(©) FBHRF (D) THAEET,
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(A) THHETHTY (B) HSHETYAH
(C) FFEEH (D) Teramamay
70, WTEATEEHHE RraRwEEr g wafy
(A) TR (B) HrwEm
(C) SHTHEE (D) yate: 74: A
71, RETEHEOH, e, sgammamweETe e g s g wfE 7
(A) AT I (B) aﬁﬁ'!qﬂm:
() Frerusyrhemn. (D) SranErdeEm:
72, Toenes =R 3f weem wisy: 2
(A) ATty (B) EEYAq
(C) wdfugET frreston (D) HEEU
73. WA AERACgeaatif: sgfrugeargaie adwus e srwifaad ?
(A) 1948 @ a9 (B) 1947 a9 9%
(C) 1949 o 99 ; (D) 1950 71 a9
74, S - g TETe Hod 9§ i g a6 guy ?
(A) 1965 a0 (B) 1947 @
(C) 1975@® (D) 1967 7®
75, ufdafherfifemrdae s wfsa snmEy ?
(A) 1948 a7 99 (B) 1950 " o8
(C) 1966 78 4 (D) 1968 T 9§

auiferfgan srafed maiy smariea Fenfia: s (76-80) FHTdET: -
34 wRigenTe: HE HaRy FATGHOEITH oAl el | ey = wem
YEGheoig 99g TR F29 HEH: W FRACETAER | 3 Fhee dug
Ifirfrauia FarEed = e TR ged R Sl sl w wi, a3 v s

fempurgre wvmai witvei o, o0 9 Al wrefoAaTfeTT |
"
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7 i ‘W:"mﬁ; HAH: ? tUiINDIH 156 L!r -[FE
(A) =gsifa: (B)
(C) Ir=fivma: (D) =

78, IHH" TUA F: WG 7
(A) &= (B) ™
(C) ¥4 (D) L

79. vt sfy o wfifedd g
(A) Ff2 + afy (B) 37§ + AfY
(C) a7+ iy (D) 3 + 3

80. “Ydq" TUA F: THN: WIH: 7
(A) Fore @ - (B) fafufage=r:

(C) ¢ THK: (D) g PR

areiiferRgan awfed weimmaenss Frffed: s (81-85) HHTET: ~

Sprgfr =1 Ry o FR A T
qmqﬁﬁﬁwﬁ,ﬁwﬂﬂ‘mﬂ
oA eI 3 A1 Hepr
effa=t @] VWA AP R 1|

81, wSTRA S BCH: T fer
(A) Rrafef (B) VIGEIehIEay
(©) e @), e

5. ol §OE : THR: G 1

i (A) VT .
(C) WEHR: (D) TR
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(A) gfer ® i
(C) =iy ©) it
6. T O b Yot e s g
(A) §: T8 v geafy |
(B) Rﬂ?-ﬂ‘ﬂ'ﬁsﬁn
(©) ¥: TR 5v geufy |
(D) ¥: T e gefy |
87. *wmm*m f: i.w
(A) 3% Bt @ | B) v ww |
(C) w41 Senfy @ | (D) et e |

88. 'T'lﬁaﬂfﬂm%{?

(A) Hug: (B) =
© w3 (D) forgan

9.8 T srpresfr s AT wei
(A) §: o sgTesfa | (B) ®: el spresfy |
(C) &: T FFTBfY | (D) W: T Ty |
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(65) F

SECTION. '
IV /Evg -y @!HP}EE ULIE

In thiS Sectiﬂn, th'E-TE are ? - CiEE

b-sections ;
(v(b) Social Studies, Bogh the sy cctions ie. 1V(a) Mathematics and Science and

b-secti : :
! €Ctions consist of 60 Multiple choice Questions each.
The candidate has to choose either

1V ; g
studies as selected in the Online PH (a) Mathematics and Science OR I1V(b) Social

plication Form and answer all the 60 questions.

iemeft W(a]“ﬂﬁmﬁtﬁmlwb)mmm,ﬁmmmm-ﬁﬁ
fi &, ¥ ¥ 55l 0 I7ve 3 e & v et 60 w2

SECTION-IV (a) /@US - 1V (a)
MATHEMATICS AND SCIENCE /Tor oot fasm

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.
wEve i et 60 WA § | o sl 3 forwa 1 s e 2 9 anft e oo e £

| 91, Ifratio of the volumes of two cubes is 27 : 64, then what will be the ratio of their surface

areas ? e
(A) 3:4 :
(C) 9:16 (D) 3\3:8 - S5
ﬂ&ﬁlaﬂ%mﬁwmz?:@t,mﬁqﬁ%mmw :
(B) 4:3
A) 3:4 |
EC; 9:16 D) 33:8 | |
: . oal pole is 264 m? and its volume is 1848 m>, What is
T 92. Area of curved surface of ai}"l—lr;iﬂﬁﬂ po
| he height of the pole ? (use ™= 7
n o 3 -
(C) 5m @#ﬁ@ﬂmméQ&Eﬁa?iwmmﬁmilﬁﬁ _
::ﬁfq;a;ﬂg 2 (ﬂ _ 22 i i1 l] indiresult.in whatsapp - 9352018749
. ! (B) 3 "It
o o o ot

INDIRESULTHE '
G
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* indiresult.in whatsapp - 9352018749 of 100 marks in subject
: owing respective marks

64. 8, 60, 52, 28,16 and 30

out ©
93. 20 students of a class obtained foll

M 82, 44, 54, 32,6
70, 16, 58, 6,
54, 46,24, 36, 84,7 e

Grouped frequency distribution table of above W1

o e
K | ® | S | Class | Frequency
(A) | 8- | Class | Frequency No. _.-—-;""
N:' ' 0-20 4 1] 0-20 _,___6.--—
2 | 20-40 5. ) 2 | 20-40 e
3 | 40-60 & £ ﬂ#;_——
4 | 60-80 3 | 4 | 60-80 o
5 | 80-100 2 5 |80-100| 2
(©) | 5 | Class | Frequency (D) I?u Class _Frequency
N:h 0-20 4 1 0-20 3
2 | 20-40 5 2 | 20-40 5
3 | 40-60 5 .1 3 | 40-60 6
4 | 60-80 2 4 | 60-80 4
5 | 80-100 3 | 5 | 80-100 2

o T % 20 B A v e | 100 371 3 & s fr=t 3t W Rl
54, 46, 24, 36, 84, 70, 16, 58, 6, 82, 44, 54, 32. 64, 8, 66,52,28,169 30
:ﬂ'ﬂﬁi‘lﬁmmmm indiresult.in whatsapp 9352018749

A) |wE.| = | wawar | (B) |HE | W | wHEwaA
1 | o-20 4 1 | 020 4
2 | 2040 5 2 | 20-40 8
3 | 40-60 6 3 | 40-60 5
4 | 60-80 3 4 | 60-80 3
5 [80-100] 2 5 | 80-100 2
€ |®wH.| = | wk@mar | (D) |wd. | = | wRaEwEr
1 | 0-20 4 1 | 020 3
2 | 20-40 5 2 | 20-40 5
3 4060 6 | 3 | 40-60 6
4 | 60-80 2 4 60-80 4
« |5 |80-100 3 5 | 80-100 2
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95. -

9%6.

97.

L]
o @ JINDIRESULTE *
d by Seema in Hindi, English, Mathematics and Science

these sub?::tShg“'“ in diagram given below. Sum of total marks
S 15 480. Read carefully and answer following

Note ¢ Details of marks )

Subjects of Examinatign o f{;]:;:lne
obtained by Seema ip S 6
questions (94 & 95 .

¥ Tt & wftmr gro e et si w A 480 # |
S

mﬂﬁwﬁnmm@ b

How many marks obtained by Seema in Mathematics ?

(A) 93 ~(B) 116 (C) 109 (D) 124
i 3 ftra o foraa 3t wre fd 2 |

(A) 93 (B) 116 ) .10 2 (D) 124
How many marks obtained by Seema more in Hindi in mmbarisnn of English ?
(A) 36 (B) 48 (C) 21 (D) 30
i 3 et 1 37sht oY qor | fohaa 3ieh i s ol 2

(A) 36 (B) 48 {C) 21 (D) 30

Out of following which is not the exact characteristics of objectives of Mathematics

teaching in classroom.

(A) should be related to life (B) should be in be_havir:rural terms
(D) should be specific

should be testabl
[ﬁWﬁﬁfC}' hnglﬂa:;ﬁnﬁ?aﬁw%a%ﬁiﬁmﬁﬂwqﬁ%:
(A) e @ gafoa g =fee | (B) SR Tal 3§ & =g |
(C) whegor g g4 =e | ) fafire &R =fe |

me 42 marks out 0
hows which characte

f 80 awarded by different examiners in a test of

If a student get sa ristics of evaluation out of following :

Mathematics, this s (B) Validity

(A) Objectivity (D) Practicability * -
(C) Reliability wmﬂﬂﬁm%ﬁwﬁ 80 & & 42 3 WM ¥ & W<
a3 o feremeff 31T e d ?

¥ 7 g whgor 1 P @)

(A) Hlﬂﬁ'ﬂ?ﬂ (D) Freaal

(C) , fowaefaat indiresult.in whatsapp - 9352018749
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98. Outof following which is limitation of objective type questions ? '

(A) Guessing

(B) Difficulty in construction

(C)  Cannot measure complex process

(D) All of the above

Freferfea 3 @ wxgfie vom Sy R fm 2

(A) 3FEH o (B) Tomtor & wferd

(C) ResBrsfisaamgsn (D) sWww@ft

99. Outof following which of the teaching method in Mathematics is difficult to use in formy|

classroom situation ?
(A) Inductive (B) Deductive (C) Project (D) _Analytic

ﬁﬁ%ﬁﬁuﬂnﬁﬁrmﬁﬁﬁaﬂqﬂmwﬁmmmﬁnh
(A) FPHATHS (B) Frmamw®s () WS (D) favervomas

100, au; m; the following, Language of Mathematics is
ymbolic (B) National (C) Complex D) Vedi
Freforfien & & 7 & srar 2 ; e e

(A) Hhareas (B) T¥H (C) wfem (D) afew

101. Out of the following, Mathematics in a strict sense is a
(A) Concrete Science (B) Abstract Science
(C) Physical Science (D) Relative Science

ﬁﬂﬁ‘ﬁﬂﬁmﬁﬂﬁmi:
(A) v famm (B) famm
(©) ifachra fagm (D) :ﬁ?fmﬁmﬂ

102. Out of the following which is not the characteristi 1
¢ of reasoning in Math ics 7
(A) Aclm.}rac}r (B) Certainty of result p -
(C) Originality (D) Subjectivity

Trfore <6 afdher st Rt Ferifa o & T8 2 .
(A) " Tgar (B) wftorm <t fifegemy
(C) wferpan (D) fawg-figa

103. Out of the following, what is most important characteristic of oral work in Mathematics

for school students
(A) It develo;s mental process (B) It saves time
(C) Not require paper pencil (D) Able to solve questions orally

fafefes 4 & et
g m:u.mwhaim@im?ﬁﬁmww
(A) A TR s w5 e w2 |
(B) T aET |
(C) VNI Ft Savrwar T 4 |
« (D) HEF T T B v w1 g e R

(%) INDIRESULTE |
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T, §1-2 - Py
o4. Out of the follgy; . ) @ JINDIRESULIE ¥
1 particularly mogt “;zm‘gh[“t:hmh BO of Inforiatici bicsfecibronte t”I:u:T AL
(A) LCD“PTﬁjectnr or teaching graphs anféngﬂ;:jnmneﬁmyd?cummumcannn echnology 1is
(C) Interactive Whe B)  Slide Pro; '
jecto
ﬁﬂﬁ"lﬁiﬁﬁﬁ mp@.:.'a;i (D) Television .
waifer ITmf 3 ¢ TR Ao e e e s v sy fovor 3
(A) THLA. Doy
B) .
©)  ¥: B, B) . v s |
Ial Th h ﬁﬂ'ﬂl’g [D} E ﬂﬁ Iy
105. e synthetical method h e gl
(A) Induction Should be used to teach geometry in school after following
(C) Analysis Eg:; Synthesis
e o sy 3 Deduction
i W%Wmmmmﬁnﬁ%mﬁmm
o Mo (B) wHyerqor |
(C) ﬁ?ﬁmﬂ (D) s
106. Value of \|=\/3 +1/84 + 18/3 is e ald
(A) \3 (B) 3 ;
(€) -3 (D) 0
\- 3+;]84+ 183 F1HM B
@ B ® 3
| © -3 @), 9
107, If {49? _ 496 + 4%95) = k.4%3, then what is the value of k 7 ; iE
; s ,
(A) 16 g 3 i
(C) 13 44 '
ﬁ(49?_4%+4°5]=k,4"5€l.fﬁ SILLELLE ;
(B) 64
(A) 16 iy 4
bt (€ 13 indiresult.in whatsapp - 9352018749 Ir;
= A
108, Se2-+ 152 60240 @) (sa+2b)@-3) 0
- (A) (5a+2b)(@~ (D) (5a-2b)(a+3) »
(©) (5a-2b)(a-3) 3
542+ 152 - 6b— 2“": (B) (5a+2b)(@-3) "
(A) (Sa+2b)(@+3) (D) (5a-2b)(a+3) .'
* (©) (5a-2b)(@—3)
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109.

110.

111.

112.

113.

@

3
1

L
1 3 ’192 .
What is the value of oy, " D F%
8 3 { J!Hlnlllﬁtljl FARTHEN
000

(A) 9 (B) 3
(C) 27 (D) 5
e o M IO FaEnEE
3[ 8 3 '
1000
(A) 9 (B) 3
AC) 27 (D) 5
If 2x — 3y =79, x + 6y = 47, then what will be the value of (x — y) ?
(A) 40 (B) 32
(C) 38 (D) 42
e 2x — 3y =79, x + 6y = 47 &Y, A (x — y) 1 I FTEM ?
(A) 40 (B) 32
(C) 38 (D) 42
(3x + 5)* — 60x is equal to
(A) (3x+10)? (B) (3x-5)
(C) (Bx+12)? (D) (3x-12)?
(3x + 5)2 — 60x P d & Fpad s 2 2
(A) (Bx+ 10)? (B) (3x-5)
(C) (3x+120 (D) (3x—12)?
What percentage of 80 is 80 ?
(A) 64% (B) 80%
(C) 90% (D) 100%
80 &1 fera wfemra 80 8 2
(A) 64% (B) 80%
(C) 90% (D) 100%

indiresult.in whatsapp - 9352018749 .
A T.V. seller sold two T.V. at the rate of T 9,600. Out of them, he obtained 20% profit on

one T.V. and 20% loss on another T.V. How much profit or loss percentage is obtained in

whole transaction ?
(A) 10% profit (B) 4% profit
(C) 4% loss (D) No profit no loss

ws 2effae R X 7 9,600 # X A A effEeE A | 370 & U AT W 20% A T
R 2efifiom W 20% wf gé A vw ¥R F fren o w e wt g€ 2

(A) 10% ¥ (B) 4% @™
(C) 4%®EH (D) AEMA TN
INDIRESULTE
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116.

117,

s 606 ok oy, (FYINDIRESULTR

t .
[hﬂﬂ hzﬂav manjf W[I'rkm W]H bE T:;Lkli]n l,.? da}’i ]f[h]s task is to he mmFIEICd in 4 d_a}zs‘
(A) o {Br}ed ;
{C}ﬂaﬂlﬁamﬁ (D) ;3
& 6 6
s TR 2 e &?Emmilﬂﬁﬂﬁﬁﬁhﬁwmﬂ,a}ﬁmﬂ
(a) 20 "
6 = o 2
imple interest i :
LLE;unF: ? 18T 640in 5 Years at the rate of 8%, then what will be the principal
(B); 5 1259 (B) % 1,600 _
(©) ¥3.200 ) T340
f foreft o g%ﬁ“%?ﬁmm?mﬁﬁwwﬁm?
(A %1230 | (B) 1,600
(C) 3,200 (D) 2,400

There is a target of increase in number of students in a University by 10% every year. Ifin
ar 2016 this number was 1500, then in year 2018 on completion of target how many
students will be there in University ?

© 1700 o) 1915

e i I e o wfead =1 e Ta T | AR
fygafiraTera 1 3 aret fenfial 1 wea 10% 3f& :

Eﬁﬁuﬁa‘w15mrﬁaﬁa¢mlaﬁaﬂ1ﬁigﬁmﬁﬁﬁmﬁﬁmﬁmﬂﬁﬁ.

(A) 1800 (B) 1815

(C) 1700 (D) 1915

i i ' low 7
i les in the {llﬂ.gl'ﬂ.l'l'l EIven be
1 iti 1 fCﬂﬂgﬂ.lEﬂ{.‘E of tang
Which Cﬂﬂdlt]ﬂ]’l ﬂ]}p]léﬁ o
B

ide-Side rule le-Sid
ESJ] g;g:;nglﬂ-sme e : o A a faas @]

R
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118. Correct pairs of dissimilar saépp]ementary angles in

the following diagram are

B L

F\T’D
E
(A) £DFE and ZEFA; ZAFB and Z/BFD
(B) £DFE and ZAFB; ZEFA and ZBFD

(C) £BFD and ZEFA: ZAFB and ZDFE
(D) ZAFC and ZDFC: ZAFB and ZDFE

X—

A fe 7 Rt 3 s s St 5wl g
C
B
Ae - >D

(A) <DFE¥ ZEFA; ZAFB ¥ /BFD
(B) ZDFEd ZAFB; ZEFA 9 ZBFD
(C) ZBFD¥ ZEFA; ZAFB 9 £DFE
(D) ZAFCT £DFC; ZAFBd ZDFE

119. Two parallel sides of a trapezium are 10 ecm and 16 cm respectively. If area of the
trapezium is 78 cm?, then what will be the height of the trapezium ?
(A) 13cm (B) S5cm
(C) 6cm (D) 8cm
U wHerd gy it 3 FHT el e 10 a0 T 16 A | af wwew wfs 1 dawe
78 97t At B, A Iwht Fard w4 B 0

(A) 13 @t (B) 53
(C) 68 (D) 8
120. What will be the circumference of half part of a circle, whose diameter is 56 cm ?
(use 4 =%] ; indiresult.in whatsapp - 9352018749
(A) 44cm (B) 88cm
(C) 22cm (D) 66 cm
12
56 2uft e et il 3 35 o < ey 8 2 ( = 2 s o1
(A) 448t (B) 88amt
«(C) 22 % (D) 66 %
#) oiResuLTE
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121. E:;Staf] arc.fgunfi in which cell organelle 7 @ INDIRESULTE
olgi bodies (B:l Mitﬂchﬂndrja FEUR BMCCIZE PARTMEN

(C) End{}?lasmic reticulum

ﬁmaﬁﬁla;mﬁﬁ?ﬁmémﬁ%? (D) Chloroplast
(A) TiesTramg

(B
©) I:3E=R ferey ([31 Ao

122. Which is an insectivorous plant ?

(A)  Cuscut ' i :
W;ﬁ ard ?[B] Utricularia  (C) Monotropa (D) Orobanche

(A)  H=pa (B) g (0) uwFRw (D) FRE=ht
123. Which is a red planet in Solar system ?

(A) Mercury (B) Venus

(C) Mars (D) Saturn

HREA A AT TR B |1 R ? .

(A) 99 (B) W+

(C) W (D) =fy

124. DOTS is a short form of
" (A). Directly Observed Treatment, Short Course
(B) Directly Observed Treatment Scheme
(C) Distantly Observed Treatment Scheme
(D) Distantly Observed Treatment Schedule

DOTS, fae &g @& 8 7
(A) e Hfa IR, AT (B) o SR e Ao
(C) e i IR AT (D) ‘T et ST FRIFA
indiresult.in whatsapp - 9352018749
125. Which food group is richest in energy in terms of kCal per gram 7

(A) Cereal, Millet and Pulses

B) Vegetables and Fruits |
EC; Mi]gk and Milk products, Egeg,ed Meat and Fishes

0il & Fats and Nuts & Qilseeds
gzlmn’fml R ﬁ@éﬁﬁﬂvﬁmmm,mmg ?

(A) T, fieie @ g

(B) wfewaiwd o 3 bk
(©) agqa‘gum,w:m@"“%'"
. (D) o1 3 T o ggd @ faeIE

(@) oiresuLTE
L J——— ‘__......-..lllllllllll--—-ﬂa
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FEUBR BEHCEIEE FARMTREN EjT_z
126. Which one of the following statement is correct
(LH)?

(A) It stimulates Leydig cells to produce testosterone,
(B) Itis a neurohormone.

(C) Itis secreted by Graafian follicles,
(D) It does not show synergism with FSH,

AT BT 35 et et & o 2

(A) 3 ifen Hiftrmail 1 2er e 3 R e w2 |
(B) musdbmamiag,

(C) & a6 ges A wifea B 2 |
(D) ¥& FSH % ¥ @ i qurfen 2 |

with reference to Luteinizing Hormope

| 127. The strategy of alternation between sex
| (A) Polyembryony (B) Parthenogenesis

; (C) Heterogamy (D) Apomixis
ﬁhﬁ&ﬁmﬁhﬁm%ﬁamﬁwﬁﬁﬁﬂaﬁﬁé

ual and asexual reproduction is known as

(A) wgyorn (B) s
; (C) Tormyms (D) TS
g
! 128. Objectives related to affﬁi‘.‘-,ti\;'t_.‘-_ domain mainly concerned with
+ (A) Knowledge (B) Application
' (C) Valuing : (D) Comprehension
AT T8 § Wi I3 e ®9 @ grafig
(A) A (B) 3w
(C) T (D)
129. Which one of the following is not a characteristic of a good test ?
(A) Reliability (B) Planning
(C) Objectivity (D) Discrimination
Freferfea 3 @ #17 =t farstvan v som vl 6 T8 2 -
(A) Freaadiaar (B) Frem
(C) weghea (D)

fegmft
indiresult.in whatsapp - 9352018749
130. An example of projected teaching aid is

(A) Bulletin board (B) Overhead projector
(C) Chart (D) Model

wardt Rragor ATt %1 O Jere

(A) TefAwrE (B) Fatde WX

* (C) R (D) wHise

(#) WowresuLTa

FUE BEVCEIEE Fg
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Out of the followsp (75) @INDIH -SULTE

Which :

A) Lecture.- teach ,
) LoctareCum-Demopgpy: & Method g
(B) ure method On methoq

(C) Problem solvin
(D) Laboratory meghag "

PR 3 2 9 28
(A) ST et mmﬁ*ﬁ“ﬁﬂﬁmmmn
(C) E¥ea W iy (B) = fafy

Du; ng the following

(A cientific la Product of Scj "0

© Formulas ws B St Science” !
rmulation of h}’]}[}mesm C attitude

Which comes ypger «

Wﬁ‘mmﬁm i
(B
(C) TR e {n; mﬁﬁ

Out of the following which i : ,
of teaching ? & Which mnovative teaching method covers all domains of objectives

(A) Team teaching (B) Micro teaching

(C) Brain storming (D) Programmed instruction

frferfea & @ #17  wamard fRreror fifty 3 R % st 3 oo west w1@mw e d 2
(A) = fargor (B) & e

(C) wfer=s e (D) FPwhfa s

Which type of teaching should be planned after diagnosting the learning difficulties of the
students in science teaching ?
(A) Micro teaching

(C) Diagnostic teaching

(B) Team teaching
(D) Remedial teaching
efepm ATl % g % 3T e SR < firew 6 s

R Reor & farenfiat

ot =il 7 G

() ‘it - :ammiﬁmn

(C) ﬁﬂﬁlﬂﬁw i{rl?giresult.in whatsapp - 9352018749
——— determining the extent to which educational objectives are

:chiﬁt:t;n;}t:fh; pupils is knoWh HS{B} Evaluation

(A) Training D) Experiments

(Cj: Diagnosisaﬂmtﬁﬂgﬁmwﬁmgﬁaﬁmﬁmi,iﬁﬁﬁﬁ?

(A) ;‘Tﬁm (D) o

(©€)

INDIRESULITE

HEEIdER FARTHME

—

sauwyn s>
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136. “Defining” Action verb is related with which behavioural objectives ?

(A) Affective (B) Psychomotor

(C) Cognitive (D) Affective and Psychomotor

“ghonfia " SRS e fFg =raEd E A gEfia @ 2

(A) WHETHS (B) wIfsraTee

(C) W (D) WTETeH® Td HAHATeS

137. Out of the following frame of Linear Programmed Instruction, which of the following
frame is exactly related with teaching-leamning content ?

(A) Teaching frame (B) Introductory frame

(C) Testing frame (D) Practice frame

Yt siftwfia SRm % Praffas v & 2 a1 vg Rt w9 & verd s et faveeg
AgafRmd ?

(A) Taorag (B) WEATEAT 9E

(C) gtz ug i« (D) ™R

138. An object of mass 0.75 kg is hanging from a string attached to roof. What will be the force
applied by string on the object ?

(A) 8.45N (B) 735N
(C) 685N (D) 98N
0.75 kg Z599T 1 T fUvg &a & &4t SHY & e gan # | 31l g fve w ke ot e 2
(A) 845N (B) 735N
(C) 6.85N (D) 98N

indiresult.in whatsapp - 9352018749
139. Which of the following statement is true for an oscillating simple pendulum ?
(A) Potential energy is minimum at maximum displacement position.
(B) Potential energy is maximum at maximum displacement position.
(C) Kinetic energy is minimum at equilibrium position.
(D) Potential energy ‘s maximum at equilibrium position.
T e HA U Ao & ol e d asm s a0
(A) Fftrhaw far T sraen # Rl sel mem R |
(B) ftrepem e araeen # ot S arftrram 2 |
(C) WA e/ e St B Rkl ?1
- (D) "™ yraen # o st aftream &

(#)\oiResuLTE
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which of the follow; W @; F
A0. o INg tem :
I (A] "8 F peraturE]-S n(]t poSsib]e.? U!H-D!.B:E“ HpI:u
() -8k (B) _gsc
| D) _go
ﬁﬂﬁ ?"Tm m‘qﬂ'ﬁ m ?ﬁ'& 9 8 R
(A) —8°F
©) -8k (B) -gec
(D) -3 °R
. 1 joule is equivalent to
(A) 4.2KkCal (B) 4.2 Cal - e - i LC ]
| 91 T4 B & 42 ®) =
(A) 4.2 kCal B 1 1
(B) 42cal (€) z;kCal (D) 73 Cal
142, ;ﬂ‘gal:tssﬂuld be the minimum height of a plane mirror to get full image of an object of 2 m
eight
(A) 1m (B) 2m (C) 4m (D) 05m

T T U9 H 2 m o Y wg o wiiiew 3w & R ol 6 g S Reed
Bt =R 2

(A) Im (B) 2m (C) 4m (D) 0.5m

143. Sound transmission takes place as |
(A) Stationary transverse wave (B) Progressive transverse wave

(C) Progressive longitudinal wave (D) Particle form
wf =1 = B 8

(A) e ST o w9
(©) gty AT ®IH

a Green-house gas ”

(B) aqgﬂﬁwtﬁﬁfﬂ w0 H
(D) ﬁﬂﬁ'ﬁqﬁ

144, Which of the following 8 (B) Hydrogen
(g} CN}iungen (D) Nitrous Oxide
(C) Oxygen
P Fa AR AT
(A) Arggio (D) T
{C] mﬂ indiresult.in whatsapp - 9352018749
. aitride iS NH,);N
| 15, Chemical formula of AMTOPE ST (©) (NHSN G shasy
mwmmﬁ‘ H)N,  © (NH,);N
*(A) NH,N @ e
. 4

(Ui INDIRESULTE /
W ”
' 13yon?
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146. Monomers used to prepare artificial fibre Dacrop jg
(A) Ethylene glycol and Acrylonitrile
(B) Ethylene glycol and Vinyl Chloride

- (C) Ethylene glycol and Terephthalic Acid@ ) INDJH E§H- -[ E
(D) Ethylene glycol and Acetonitri le
O X SHH T H 7 vers 2

(A) et TemseRier qen Yfretmszrser
(B) Eﬁﬁﬁq‘mﬁamﬁmm
(C) et mermester qon Sedfer 3
(D)  wfrefia remmgehier e YeherTgrser

147. Antacid substance used for the treatment of acidity in stomach is

(A) Caustic soda (B) Caustic Potash

(C) Milk of Magnesia (D) Lunar Caustic

ST 1 ST T IR F04 3 70 g wh amer

(A) wifees gre (B) i qidy

(C) o i Aefifaren (D) T i
148. Coal containing maximum percentage of carbon is

(A) Peat (B) Lignite

(C) Bituminous (D) Anthracite

wigen fored sl 6t watfies e §

(A) die (B) femme

©) fageh (D) TR

149. Which of the following is an output device ?
(A) Magnetic Ink Character Recognition (MICR)
(B) Optical Character Recognition (OCR)
(C) Optical Mark Reading (OMR)
(D) Visual Display Unit (VDU)
Fraferfiga 3 @ 9 @1 38eqe Iywm # 2
(A) WA 55 i FEeH (MICR)
(B) 3ATReer iaet fafwM (OCR)
(C) 3ifehet | €T (OMR)
- (D) Tageme fevst gfie (VDU)

indiresult.in whatsapp - 9352018749
150. Who discovered Penicillin ?

(A) Edward Jenner (B) Robert Hooke
(C) Robert Koch (D) Alexander Fleming
At 1 @ e 6 7
p) IR (B) TwHEs

. ECl fag d (D) TEEIE wfm

@ NoiresuLTa
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91, What does ‘we the

India mean ? People of India’ as

Mientioned in the preamble of the Constitution of

(A) Sovereignty lies with the Chief Justice of India
(B) Sovereignty lies with the People of India

(C) Sovereignty lies with the Political Parties of India
(D) Sovereignty lies with the Speaker of the Lok Sabha

m%éﬁuﬁiﬁmﬁmﬁzﬁaﬁm*mm%m*%mmﬁ?
(A) FPIYAT WRA % qeg =manehier o fifka 2 | '

(B) WW%ﬁﬁﬁﬁ%ﬂ%I

(C) H¥IYAT WIRA o Ts-ifores geil d Pfga 2 |

(D) EAT SrehE % e # fifka ? |

92. Under which Article of the Constitution of India untouchability was abolished ?

(A) Article 16 (B) Article 17

icle 19
(C) Article 18 (D) Article 1 _
w%éﬁmﬁmmﬁaﬁamﬁﬂmﬂmﬁmmw%?

17
(a) FEHT16 L i
18 D) =g, 19
©) indiresult.in whatsapp - 9352018749

n of India the Fundamental Duties are enshrined ?

x jtutio
%. In which part of the Consti @) Partll

(C) PartIVA ﬁﬂqﬁgﬁ.\%ﬂmﬂmg ?,
. sy ® A
(A) wWm-V qFT-VI
(D)
* (C) wr-IV-A

INDIRESULTE o
; w

e A . © i
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94.  Article 25 of the Constitution of India is related to
(A) Frecc!om of Conscience and free profession, practice and propagation of religion
(B) ;c; {::?;:hn;nni?ation would be done on the ground of religion, race, caste, IHJ"Lguag;E or
(C) Right to education.
(D) Minority Institutions.
WA e 1 s7geay 25 Wt §
(A) 37030 h T ol Rl S ek & wrom, s 3k s 1 e
(B) s, e, f, et 1 446 el 35 e 9 ke vl R S |
(C) Trem = sfrm s
(D) IFeuHETs Hen

b .

95.  Which of the following is not a constitutional provision related to Social justice ?
(A) Reservation for SC and ST in Government jobs.
(B) Reservation for SC and ST in Legislature.
(C) Equal pay for equal work.
(D) Prohibition of Child Labour.
=1 4 2 arnfvres = & Tt sl yaum T £
L.

o
74

P s e o M b

(C) G9H % &g 99
(D) ==t 3| fEy

96. What is the Quorum required to run the proceedings of the Lok Sabha ?
(A) 1/4" of total members (B) 2/3" of total members

(C) 1/3™ of total members (D) 1710™ of total members

FHENT ) FRIATER F Furer % RIe sravas TR 2

(A) e GG §EHI T 1/4 9 U (B) o7 WG WEALE 2/3 11 W

(C) %o §TH §EAT I 1/3 91 I (D) el Heed %11 1/10 31 9y

indiresult.in whatsapp - 9352018749

Which Article of the Constitution of India provides for a Council of Ministers which shall
aid the President in the exercise of his functions ?

(A) Article 74 (B) Article 78

(C) Article 79 (D) Article 80

WRT % HEUH % S ¥ 370e § v whaieg #1 WEuE 2 5t R apefy @ ses w9 F
fadfe % wETAT WEH W 7
(A) BT 74 (B) 3BT 78

. () TR (D) =3 80
(@ NoiResULTE

97.
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Who appoints the Sy, Elecs (81) .

: . € Elect

(A) Chuﬂ.‘:f Election (g rni';:‘ - Cnmmissiqnm- 9 IND'I'H Y H' I' .
(B) President of Indig '0ner of India

(C) Governor of the Concerm

(D) The Legislative A °d State

T4 TS A ﬁqsf;g‘;:;ﬂge State
(A) ¥RE % HE frgfey ?

. s IV (B) gy
Sl “E“‘“'ﬁ (D) u=a ) forrreny
Which of the following Statements re

(A) The President of [ng; garding the Supreme Court of India is not correct 7
ﬂdla Ccan Sep

;? *in::i.pr‘etaﬁ“n of the Cﬁ}ns{ituktiglf advice of Supreme Court in the matters related
Eg; TI:?; Piﬁzziiﬁgigﬁumme Court to advise the President.
(D) The Government s m"::ie t; :C:Epi the advice given b;,-' the Supreme (‘_'ﬂurt_ ,
the advice of the Supreme 'CE:uurt,tloﬂssar:"‘r amendments in the proposed legislation on
NI % el AT 3 Ty 3 Pt 3 3 o o e v w2 7
(A) IR i saren & wrafRw Rl wwe g wets e & v w |
(B) Trgafa gR0 Wift Y oK el = 3 o 33 dqana |
(C) Trgafa wa= e grI e A ot i 7 ag e T 2 |

(D) Het= =ATTer % TN SER S e fai i s wH SoEsd @ |

Electoral College for the election of the President of India consists of
(A) only the elected members of Lok Sabha
(B) all members of Lok Sabha
(C) only the elected members 0
of the States. ’ e
(D) only the elect members of
of the States and Union T 3
g % -ugqﬁ[ & g4 ¥ Frafas 7S
(A) Fae AT & faaiferm #GE |
B) e ¥ o e P
(C) WRd i FHS H:Tm
(D) wa Ht §G
i’l—ﬁ'ﬁﬁﬁﬁ%ﬁ acH indiresult.in whatsapp - 9352018749

f the Parliament of India and the Legislative Assemblies

the Parliament of India and the Legislative Assemblies
tories of Delhi and Puducherry.

Longest river of Asia i EIB}}} E::futi-si (Yangtze)
A) ‘Hwang-HO

EC} Mekong @R L )
miﬁmaﬁ (B) - DGR
(a) -8 (D)

- P ks, ®
=

3

e aiowd = = S5 S
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102, imand !
ﬁl;miirmam Mountain lies in which country ? . ~
©) _UEZ]:E[ Egi i @—J INPIRESHLLE
%wqﬂﬂﬁﬁaiﬂﬁaﬁai? ik
(A) T (B) F=m
(C) Fm (D) TaeT

103. Th
(A; a‘;;l‘z%e temperature at stratopause is
© 100 ol
?:am Hi W aem arga T 2

) 43°C
© 100°c O i
104, ?zjsalt rock is an example of
H
c mﬁzﬁﬁ ::nck (B) Extrusive Igneous rock
o e R (D) Metamorphic rock
A
(A) IvTaTEfiy de (B) e amiy d
(C) vty s (D) wriafa fe
105. Th
{A; a\;t;;ge energy flow from one tré:uphicnlevel to another is
© 0 ® 200
L "
(A) 15% aﬁ?;}aﬁ:“w sl
(C) 10% (D) 2;:?

106. Vihﬁse emissary was Magasthanese 2
:‘Ec;:: ﬁﬁ:ﬂndﬁ (B) Bindusara

iison | (D) Selucus

b Trorga o1 ¢
(A) T (B) fagEr
©) e (D) egHw

indiresult.in whatsapp - 9352018749

107. Who was not the Navaratna of Chandragupta II’s court 2
(A) Varruchi (B) Varahmihir |
(C}} Dhanvantri (D) Fahiyan
LR EULRECRE R S S R —— T o ?
(A) TR (B) wuzfifi
*(C) "=k (D) wEmE

@) NoiRESULTE
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§T-2 )
i (08, The name of Maharana Pratap’s elephant was @: ; INDIRE =z
il {A] Ram Prasad (B} Chetak YEUR BEHCECIEE FPARMTMEN
. ~ {C} Mﬂrdﬂ.nﬂ {D} Ve Priiid
! TETCTOT STd % &t S A o
(A) THIETQ (B) =
() war (D) o ywrE
109. Social reformer Govind Guru was born in a
) A) pandit family (B) Farmer family
(C) Banjara family (D) Jamindar family
ATt QT TS, ¢ 1 T g
(a) R TR (B) Toram whaw i
(C) W IRER q (D)  rfer wiaw #
te ‘Chetawani Ra Chungatya’ ?
£ ;‘1};{) wpitap Singh Barhath (B) Jorawar Singh Barhath
(C) Rao Gopal Singh (D) Kesar Singh Barhath
et v s fee e 7 _
(A) anafRiE STES (B) iRfE &S
©) T I (D) ulifie amEs
111, Who arranged a scholarship for Veer Vinayak Damodar Sawarkar for his higher education
in London ?
(A) Shyamji Krishna Verma [g}; i;ibl?::t;ﬁlﬁﬂdfﬂ Bose
C) Ras Bihari Bose ( o frd By ot 7
;a):ﬁaﬁtﬁqmmﬁmm 3 forg T S g SR 1 S
(A) AT T Hi (B) NI ™
(C) Tafeerd @iw (D) HEAE

112.

; yad Was
The capital of the Matsya Janpad W4[E1) Virat Nagar

Cham
Eg]] Kushi:I::ra (D) Gokulpura
mmﬁm oft indiresult.in whatsapp - 9352018749
(A) == (B) faweT™
(€) A (D) TETH
113. *Anand Temple’ of Pegan Dynasty l; ;ﬂcal; dia:
(A) Pakistan g China
(C) Myanmar . (D)
o S i e i
(
(A) IR
" I:C} '-F-Il'iﬂ'l'{ (D} ﬁ:l

(@) NoIRESULTE

e - 1]
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Who won the battle of Tarain (1191 A.D )2 U!HP'I'B‘ s '“I“

(A) Amo Raj Chauhan

(B)  Moham d Ghori
(C) Prithvi Raj Chauhan = —

(D) Goving Raj Chauhan

ST-I

T H1 32 (1191 £.) Remd sty ?

(A) it <ter (B) Wemye mf

(©) et e (D) Mfyre <frer

115, i ' IS |
:u:};(;::'nﬂd;nce form of Rajasthan ;s included in intangible cultural heritage list of UNESCq
E:; g:enda.r (B) Kalbeliya
;'w;:‘ m X (D) Kachchhi Ghodi

TR T Y 2010 ' Sk
ol W(uwﬁsco}ﬁmm“ﬂﬂ@ﬁ
(A) iz (B) wrerafer

(C) ward (D) et by

116. Who was fhe husband of Saint Meera Bagj »

{3] Bhoj Rajr (B) Ratan Singh
[. ) Narpat Singh (D) Sangram Singh

el =i % wfy 5y o
(A) Sierrw (B) Tofi

(C) =uafiz (D) wumfifg

117, Painting Schoo] ‘Bani-Thani’ is related to
Eg] Satwant Prasad (B) Nagri Das
] : ;
Mngau:an . (D) Shiv-Paryat; *
Aeh wﬁ—aﬁ'ﬂﬁlﬁa%

(A) Ha9+ yE e (B) mrfrerg
C

(C) i (D) NrE-yrH

118. Wh indiresult.in whatsapp - 9352018749
0 was related to

o Dadrewg village ;f‘ Churu district 9

(C) Harbhujj ED]) gﬂw s

oo N S evnarayanjj

(A) wrgh (B) it

°, (O) woph

INDIRESULTE - D)

FEUE EMCCIEE FARTRMEN

’ 1

i
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19. Who among the followin
(A) Padmini Dey;j
(C) Meena Devj
QI Ao I S
(A) UfRE

(C) Hrre

Wﬂ%%?@

(B) Karma Devi
(D) Amrita Devi .

(B) wui 2
(D) s &

120. Who wrote ‘Vande Mataram’® i,

(A) Bankim Chandra Chattarjee
(B) Vyomesh Chandra Banerjee

book ‘Anand Math’ ?

| (C) Vipin Chandra Pal
(D) Ravindra Nath Tagore

(A) ufrneg T
©) fFfmEg =

(A) Jaisalmer
(C) Hanumangarh

(A) ST
(C) TIHHTe

(A) Pichhola
(C) Fatehsagar

(A) fsten
(C) wagarm

| (A) Nayanars

| (C) Alwars

oy 3 e FoECTIA &
(A) IR

(C) HeEAR
INDIRESULTE

HEEIER

S i 7§ R e, e v

(B) =g gl
(D) sy R

121. Which of the following place is not connected by National Highway No. 15 ?

(B) Barmer
(D) Bikaner

frafefiaa o & ®f9 o R Wiy tomr gen-15 guTd g @ ¢

(B) WEW
(D) IR

122. Which of the following is the largest man-made soft water lake in Rajasthan ?

(B) Jaisamand
(D) Rajsamand

ﬁnﬁlﬁaﬁﬁmﬂﬁrﬁ%mﬂﬁmiﬁmﬁﬁasﬂaaﬂqmg?

(B) FIUHg
(D) TG
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123. The devotees of Vishnu were known as

(B) Pashupatas .
(D) Lingayats

(D) fepmaa
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124. In which one of the following source mentioned e Sixteen Mahajanapadas in Ancigp,
India is found ? '

(A) Anguttar Nikaya (B) Divyavadana
(C) Rigveda (D) Suttapitak
ﬁm%ﬂﬁﬁﬁaﬂﬁaﬂmm%ﬁﬂ%mﬁwﬁﬁi?
(A) 3T fehra (B) femumaem \
(C) =g (D) Yofres
125. The old name of the river Ravi was
(A) Suvasty (B) Kubha
(C) Parushni (D) Dwashdwati
Tt 3 1 W T e
(A) Fawg (B) T
(C) et (D) g
~ 126. The capital of Shoorsen Janapada was
(A) Mathura (B) Vrindavan
(C) Indraprastha (D) Kurukshetra
YE Sug Y T oft
(A) wYu (B) g=mE=+A
(©) To (D) Feae
127. State ‘Rajasthan’ finally formed on :
(A) November 01, 1956 (B) May 15, 1949
(C) March 25, 1948 (D) January 26, 1950
TST T H9= qitqel w9 7 39 fafr =t amet ammn
(A) TI=R 01, 1956 (B) %15, 1949
(C) = 25, 1948 (D) “w==dt 26, 1950
128. Social Studies is taught at
(A) Secondary level (B) Senior Secondary level
(C) Graduation level (D) All of the above
qrTR e &1 R e s
(A) TS &R (B) I WIS & W
C) s & D) 39l
& indiresult.in whgts}app-9352018749
129. Taxonomy of objectives in education is given by
(A) John Dewey (B) Smith
(C) B.S. Bloom (D) LK. Davis
favem & Sewdl 1 afentor gy e
(A) 93l R (B) farrgm
* (C) &1, 9. & & (D) 3. &. famgm

#) oiresuLTa
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(10 A) Internal activities of

132.

P 133,

134,

of curriculum inclygeg

} .-Ff'; indiresult.in whatsapp - 935201%;_,%9 % . "

a schog)

(€) Both of them (B) External activities of a school

qﬂaﬁﬁﬂﬂiﬁﬁﬁmﬁa% (D) None of them
ferenera 6t .
2 (D) S & 2 6 T

gocial Studies text book should p, -
" (a) the Author © according to

(B) the Student
(C) the Teacher (D) the Governmeat

IR S Y TG, e g i
(A) TEHH (B) R
© Rews (D) TR

Social Studies teacher is telling the sequential process of election in classroom. She is
using the technique of

(A) Explanation (B) Narration

(C) Discussion (D) Questioning

AT 3TeEe Y STeATTie S 3 T i shien whRa a @ R | = fr il w1
WA, TEE

(A) SHTEAT (B) =¥

(C) whe=El (D) S B

Social Studies teacher should give emphasis on

A) giving information related to subject. ==
EB;' gevclﬁping thinking power of students towards social issues.

C ‘e students for exams.
ED; far;pgigf development of students.
A a & s ?ﬁ & &l
¥ gafta g |
E;; %ﬂwﬁﬁgﬁ%yﬁﬁm:ﬁs%mm

€ fafeid o ¥ g AT T

fE W
(D) ﬁmﬁﬁﬁi Lkl indiresult.in whatsapp - 9352018749

i 1 ies teaching for
Visiting historical places is useful in Social Studies teaching
(A) creating interest in sghg\;cr; L
(B) providing first hand in

' nt.
(C) better understanding of conte

(D) All of the %'ﬁmmﬁﬂ oo ST &

INDIRESULTE
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135. Bloom's lesson plan is based on .
() Objeusives , (B) Content @ INDIRESULTE ST-:
( ] resentation {D} All {}flhr.: o ! TEUR EWCCONEE PAN 0 -
&H 1 913 A S @ :
(€) FRITR (D) 3I7daa mft

136. The project is that i ‘
purposeful work which is d i on i
atmosphere. This statement 15 that of e

(A) Bloom

(B) Crow and Cro
(C) anh;[}t:we}f _ (D) Kilpatrick ¥ 142
“A"i'ﬁ';" Wﬁﬁﬁm%mmmﬁﬁmmilﬂm% '
(A) =0 = (B) sl uvE @l &
(C) Ffazdh= (D) foreridfes =

{g} Objective type test (B)  Essay type test
(C) Short ansger:ypc test (D) Very short answer type test
WIS 3erg ﬁwﬁﬁmmmﬁﬁ%mﬁm%mwmmm%? e

(A)  =Eqfe v &t g (B) Fraurenss wavm & uftey
(C) =19 -3 R 1 qiiegy (D) rfer-wregerreses wepre Y ey

138. Which of the following is a *Rabi’ Crop ?

(A) Jute
(B) Groundnut
(C) Mustard (D) Water-melon
ﬁtr%ﬂ%aﬁﬁaﬂwﬁ'rﬁ'%ﬂﬁ%?
(A) T (B) et e
(C) @l (D) EgH -

139. Sadia to Dhubri stretch of Brahmaputra river i :
Inland National waterways > p ver 1s connected by which of the following

(A) an%unal Waterways No. | (B) National Waterways No, 2
(C) National Waterways No. 3 (D) National Waterways No. 4

ﬁnﬁiﬁaﬁﬁﬁmmmm%mw@ﬁwﬁm,ﬁ.m,ﬁmmi?
(A) Tt Semml ger- | (B) wfa wemmt w2
(C) TER S gedr-3 (D) T FewTt -4 |
indiresult.in whatsapp - 9352018749 145.
140. What was the male literacy rate in India as per 2011 Census ?

(A) 82.14% (B) 65.46% |
(C) 72.36% (D) 78.30% ;
2011 Y SR % FER WRE F qon weren <0 R off 2 f
(A) 82.14% (B) 65.46% (
* () T72.36% (D) 78.30% ‘
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The winter fall ; (89) F
e ram . i
- (A) Arabian S:a e result of cyclones, which originates from
(C) Red Sea (B) Bay of Bengal )
(D) Medit
wrta | el ayf T3 Herrancan Sea .
(A) 3@ ETR " mﬁﬁaﬁmﬁmmp@)mmﬂESTE
(B) wme ) wrdt j
(C) TIeT §R ) e

142. The area in Indo-Gangetic
(A) Tarai Region
(C) Bangar Region

plain where internal channels re-emerges is locally known as
~ (B) Bhabar Region

S (D) Cho
- % :
fry ﬁmﬂ’wgmmy:m@?ﬁﬁ,wﬁﬂmﬁwm%
(A) E SR _
; (B) e wewr
143. Which of the following energy resources is credited to trigger modern industrialization ?
(A) Hydel Power (B) Atomic Energy
(C) Coal (D) Non-conventional energy
Fyfe iefesr % gaura w1 3 feffies § & frg st e St s 2 7
(A) v ferega (B) it Sl
(C) Higew (D) -gregrrTa S
144. Which of the following State of India has banned chemical fertilizer for sustainable
agriculture ?
(A) Sikkim (B) Arunachal Pradesh
(C) Andhra Pradesh (D) Goa
Rt (STt waa) F 2g Freaffen d @ i & fre T 3 Tamfis sd & svam
H gt ?
| (A) fufesm (B) Tﬁ” Rt S
. H

(C) g weH )
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145, Which of the following Iron and Steel Plant was established with the technical
. 1cn o L= y

collaboration of Britain 7
(A) Bokaro Steel Plant
(C) Raurkela Steel Plant

(B) Durgapur Steel Plant

(D) Vijaynagar Steel Plant
&1 w1 oA & aenfteht Heam A g ot 7

Presferfa & & fore T~ ¥ 69 5
(A) ﬁﬁrﬁsﬂﬁm (B) @ﬁ(mm
. B (D) TR e w9
INDIRESULIE

FEUE BWCCIER FARTHEN
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146. Which of the futlnwing river is notorious for ‘Badland’ ? 1
(A) Chambal (B) Krishna
(C) Godavari (D) Tun
gabhadra
ﬁnﬁhaﬁﬂaﬂnﬂqa*mmqﬁ (Badland) % fee e & 7
(A) =& (B) Fwm
(€) Terd (D) gmgT
147. The habitat of “Yakut’ tribe is
(A) Néw Zealand (B) Congo Basin
(C) Amazon Basin (D) North Siberia
TR A 1 ST (e T
(A) =geiets (B) i~ #fem
(C) miem aftm (D) Iuifl grzafen

148. Ghagghar Plain is situated in

(A) Gangdnagar and Hanumangarh Districts
(B)  Jhunjhunu and Sikar Districts

(C) Jalore and Sirohi Districts

(D) Jaisalmer and Barmer Districts

e T A Jafeya R

(A) TR 3 ggEEG feli § (B) e e Rt
(C) wrer ae fRé forat (D) StgemR auT TSR frelt

149. The first textile mill of Rajasthan was established at

(A) Ganganagar (B) Bhilwara
(C) Udaipur (D) Beawar
TSTET 1 WoW 96 TP T1a g3t o

(A) TR (B) ¥ieramsn
(C) IR (D) =T

150. As per 2011 Census, which of the following district of Rajasthan recorded lowest decaddl
population growth rate ?

(A) Ganganagar (B) gu.;cndi
B (D) Sikar
(?11 #,:rr:'-mﬂmﬁimgw ﬁﬂﬁrﬁaﬁﬁum%ﬁmﬁﬁﬁmmqﬁa
;qu@ ? indiresult.in whatsapp - 9352018749
(A) AR (B) 1
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